o moolH FEAS wE Bk}

(1]

=
@ 3(x-1)=4-x
© 2(x-3)=2x-6
© 3x+4x=12

@ 2(x+1)+6=4-2x

=
=%
S EE

=%



Hu
ol

ol
oR
ofie
Xfo

ol

@ a=b°lHa+5=b+5

©a=bolHa-10=10-»

© a=bOlH —da =-4b

4b

® a=2b°|¥ 2a

@ 3a=3b °]




3.

s S EE A e oldd Aol 2 A

D 4-3x=6—>-3x=6-4
@ 5x=9=1—5x=1+9

® -11x=33—0=33+11x
@ 6x=2x+20—6x—x=20

® Tx—8=3x+12— Tx+3x=12+8

ro



B 7-3x=2x+11

@ 2(x-1) < —(9-4x)

@ 40 - x <108



4x-3(2x—1)=5%5 EH?

@ x=-1 ® x=14

D x=1

® x=3

@ x=-4






ol Kar)

=1

.

ul



@ 1 G 2

3 0



9.

HF

o

A

A
=1

D1

0.5x— 1.2 =0.2x + 0.32] = F5}4H ?

@ 2 3 3 @ 4



PR 0.01x + 4.1 = —0.02x — 0.1

Q1%
=

10.

@O x=-140

B x = 140

@ x=17






(x+1)=x2-2

@ x®+2x=1-x

@ 3(x+2)=6+3x



13.

SA4x-1=2x+3<

o gre atelet.

o]

3}

[e]

Sto] ax+b =09 B2 11

B Eatb=

HE,a+b



14. OB 4 s & @
ehdl Ae

S405 ut=s

® 3x=3x+3 @ x+3=x+3 ® x+3=x-3
@ 3x=x-3 B 3x=x+3



O x+2=0

-6

@ 3x

© 2x-4=0




@ 2 B 3

1



2L ot

i ox

A 3x—4=-2(x-3) 9 &

X
bets o, a+ b 2 ZHe?

@D 20 ® 21 3 22

agtstal, 2(x-1) =

@ 25

3(x-17) 9

® 24



ox=3=17

sx=7+]_ |

5x =10

B 3

B 7

® —-5x



19.

AL dx -3 =x-6 ] |7t x =a, -(3x—4) = 2x - 16 <
N7t x=b Y d, ab O] L& Fotoiet

Eab =



o

3
A2 0.2(x-3)+0.9 = 0.3x+0.2 & S x = m , TG4 3=

%(x— 1) 9 S x = n o]t T wf, mn ©] S ool

& imn =



